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that circle in front of that question number.
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will result in zero mark in that question.
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill

Use marker or pen to fill the circles. Cutting or filling two or more circles

(D) (C) (B) (A) QUESTIONS Q.1
3-by-2 2-by-1 1-by-2 2-by-2 ~e KLl 0
Which is order of a square matrix?
5+4i 5-4i -5-4i -5+4i The conjugate of 5+4iis ___-< < 7¥E5+4i| 2
0 e 10 1 el By Tty | 3
The logarithm of unity to any base is
heil-s |Equation =i~ | Sentence a/?j Expression .2 —C J/_J.i\_g4x+3y-2 4
equation 4x+3y-2 is analgebraic _____
16 4 -8 8 Kool rJEeraxemd L=d S Em| 5
Find m so that x?+4x+m is a complete square
a+1 a-1 +(a-1) +(a+1) —eGMZ¥a*2ab+1| 6
The square root of a*2ab+1is ___
Non of these ~14 ) 8 X6R G o Ul Féenl-paax<it| 7
4 Which one is'solution of the in equation 3-4x<11
When ¥&R
(-1,-1) (1,1) (-131) (1,=1) e (X ,y) I (x=1, y+1) = (D.D}fl 8
If (x=1, Y+1)=(0,)) then (x, y) is
2 ﬁ 1 0 e L‘JyﬂK(Oj)mU.O} L 9
Distance between points (1,0) amd (0,1) is
4 3 2 1 _pine L2 10
How many end points has a ray?
mL3 mL4 mL2 mL1 mL1=—— (*ABCD{ i1 S50 11
& B
C D
In parallelogram ABCD mL1=__
Lot i B 1724 i it sttt L YU L _ﬂliouj 12
diitq::ée Concurrent | Perpendicular Equal The bisectors of the angles of a triangle are
4 3 2 1 Howmany - p&eZi & o tiin] 13
lines can be drawn through two points
3 cm? 27 cm? 9 cm? 18 cm? -c"_y'._b(fg;ndj 14
3cm
6 cm
What is the area of given figure
1:1 21 31 4:1 G LS e e iius L sl 15
The mu_edians of a triangle cut ps|¢‘e‘1an§§r r“eg sterl!
the ratio QE@ML
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Part I 5 -
2. Answer briefly any SIX parts from the following 6x2=12 _u_’/;f“:.l‘.fﬁ/“"?d: 171 {c..gjfc..dd_’j ey -2
Define symmetric matrix -.,L,—"..Jjg-'/‘"d/__,-'l.?‘ _f_;.: (i)
o4 | .
Find the product of [_ 3 U:l 0 S l':l*"_‘a,”uwb (ii)
S S F i)

Define rational numbers
u G BV e P2 s
_SZUE S athi A [\.f_*a —.w) (iv)

(5 = 3i} wiite in the form of a-+bi
Find the value of x Log}, = j:/é Logg, = Vz oF ,—;‘:L".:.Pf J% (W)
Calculate L”}I; x L“}?? .5- ',*'-‘".:..E L,': LU,Q; X LO‘&_’_T (vi)
Simplify ;E . \@ % . 1“{135 -V'”,’J" (i)
Factorize 27+8x’ 27+8%° S SF (i)
Simplity (3 + /3) (3-/3 ) (G+3) 3-+3) S (®

6x2=12  _y i L e M it 23
I3x-5|=4 -==_F ()

3. Answer briefly any SIX parts from the following

Solve |3x-5] = 4
Solve the in equation 3x+1 <5x-4 XTi 3x+1 <5x-4 -._‘i' Pl nls i)
Define Cartesion Plane _& ._{/‘._,'VJL,:K (iii)
Define line segment. _._'"._._..gf‘u b3 bt (iv)

Find the distance between two points A and B. When A(9 , 2}, B 7 . 2). 2 &= /st s €Usin CBsALE (V)
Find the mid point of the line segment joining A (2, 5) and B (-1 . ;-I_':_f"; r.*u"._'é;?;:’L{',:E/A (2,5) , B(-1,1)L8s (V)

Find the unknown values of x and m ..‘: l*:“";u?'f\j X o ml':"":-:;. UM (vil)

for the given congruent triangles (5% +5)

B sm-3 p 2Zm+e C
Define median of a triangle _.._”_1._¢ . Cbes (VN

Find the H.C.F of expressiors 39x’y*zand 91 x°yz2’ e l,.,i;»lﬁ‘i_,k st (ix)
4. Answer briefly any SIX parts fromthe following 6x2=12 _.{/;/n.:,l,b?/"‘?c.‘/_ 121 .qfc..(jfc‘.. e J:j w4
i oo R e ABs B LGP )

In figure, P is any point i~ g away
g |) o Ul |‘L7‘ ~AB »¥mPL: .t

mL PLA=90 1

from the line AB, then m PL will be

the shortest distance if mL pLA=90

A
-1

Define similar triangles. _;:"_‘-"_._'w,',/‘”'\_;’,-f-f’,ﬁ: (i)
Define Ratio. e i)

s sl g A, S 440 @=5em , b=12em, c=13em Ul ¢ Sl

i s
- -

(iv)
Verify that the following measures of sides are right angled triangle a=5cm , b=12cm , c¢=13cm

What is Pythagoras Theorem. =V :._,-:;i;‘.ié'---' (v)
Define bisector of an angle. 5 .:: ..;}'_fﬁl;ﬂti@r; Q)
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Define Rectangular region. _é._y/"'d’j; d..’by (vii)
Define Incentre. _é._yf“d’)} L.Bm.‘l (viii)
Construct AABC, in which m E= 3.2cm ., m E =42cm , m a= 5.2cm uﬁf:'e.l:f.ABC &l (ix)
Part II (» s >
8X3= 24 ce G Ay S fen L atr e i S
Note: Attempt any Three questions. but question 9 is complasery
3x—2y=4 5
Solve the equation by Crammer rule —Gx+dy=" -39 SN u(gib“[./l/qu Hsls B s -5
(216)% x(25)* (216) x(25)* T
Simplif o - P —
P A (0.04) % (0.04) = s
Find the value of ¥/2.709 x1/1.239 by the logarithm 3/2.709 x¥/1.239 _ér;lf.:..fc..u Jﬁ@ (N-6
If 2x-3y=10 and xy=2, then find the value of 8%-27y% & r':L"’gx_"' J 8x%-27y? Frxy=2 15l 2x-3y=10.11 ()

Factorize cublic polynomial by factor theorem X 34+x%10x+8 _é J;Ju-“’ g_?;/?/&u o g \},Jf-”‘lr‘ (0-7

x+3 1 4x
oL B e S - -
SEARURESY G E T 2an-3) a9 &P

x+3 1 4x
Simplify as a rational expression ¢ 0%+ + 2(2x —3) - 452 9

Solve the equation and check for extraneous solution. m —-2=10 _"’.-’TJL“J;;,-i z'ffd"f;.ut/ ()-8
m AB = 4.8cm ,m BC = 3.5 cm , m AC = 4ém and draw its median ﬁd’uﬁufl-'f- ABCA &L ()
Construct a A ABC in which m“EE= 4. 8cm |, m_EE= 3.5cm , m_A_C- 4cm and draw its medians.
Find the length of the diameter of the circle having centre at C (-3 ,'6) and passing through P (1 ,3) .
G Gk U L 153,255 B 0s J Bla g ot $oF L 13,2855 1 (LD-9

E
Any point on the right bisector of a line segment is equidistant from its end points

|- SN [P

5 . . & - - _ 5> &3 )
Triangles of equal bases and of equal attitudes are equal in area. (Sssls s Uresbs &l ﬁbtf.u"'dﬁ'l/' [
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